Connectors 

    Connectors are words that join sentences together . 
1: ( because , since , as ) + cause                            expected result . بسبب           
                                     ( S + V + … ) 

a. Because the weather was bad , we cancelled the match .

b. We cancelled the match because the weather was bad . 

c. As the questions were very easy , many students passed the exam. 

d. Since the water was very cold , we didn't go swimming
      e. Because he  didn't study hard, he got low grades. 
     ( because of , due to  ) + cause                          expected result 
                                      ( Noun , noun phrase ) 

       a.    Because of the snow, schools were closed .
        b.   Due to the cold temperature, the pipes froze.
c. He didn't come to school due to his sickness. 

d. Because of the heavy traffic, he came late.

e. He got high marks because of  working hard
(Nadia got a reward because she is clever.




       

   (Nadia got a reward because of being clever.




         
2: ( so , and so , therefore , as a result  )    نتيجة لذلك   

                                Cause                              so / therefore / and so + expected result 

a. The population is growing rapidly ,  therefore , we need more and more food . 

b. We didn't have enough money so we couldn't buy anything .
c. He studied hard therefore he succeeded.

d. The shops were closed, and so we couldn't buy any thing. 
3: ( although , though , even though ) + cause                     unexpected result  بالرغم من   

                                                                 ( S + V + ….) 

a. Although he has got good qualifications , he can't get a job . 

b. Ali still works on his farm although he is 70 years old .
c. Although he studied hard, he didn't succeed.

d. He went to work although he was sick. 

  ( Despite , in spite of )      cause                     unexpected result  
                                   ( noun , noun phrase ) 
a. In spite of working hard , he doesn't earn much . 

b. They went out despite the heavy rain .
c. Despite her poverty, she was generous .

d. He came to school despite his bad health. 
(Although I'm hungry,  I can't eat much.


(In spite of being hungry, I can't eat much

(In spite of my hunger, I can't eat much.

4: ( but , however  ) are used to join two contrasting ideas .  لكن , و مع ذلك 
a. He was feeling bad . However , he went to work and tried to concentrate .
b. He passed the exam, however it is difficult. 

c. He lost everything , but he kept his confidence . 
d. I'm not hungry , but I'll eat with you

5: ( also , moreover )  are used for adding ideas .  ( in addition , too )  ايضا 
                                                                                ( furthermore   )    بالإضافة لذلك 
a. I like English very much and I also enjoy maths .
b. The whole report is badly written. Moreover, it's inaccurate.
c. These trousers are good. Moreover they are cheap.
d. He is a fascinating person . Moreover , he tells some of the most interesting stories .
6: ( while , whereas ) to contrast ideas . بينما  
    ( by contrast , on the contrary  على العكس  ) 

a. While Tom's very good at science , his brother is absolutely helpless . 
b. Some of  the studies show positive results , whereas others don't . 

7: other connectors :-  ( in fact , for example ,  either …… or ,  neither …… nor 
on the one hand – on the other hand ) 

Exercise

================= 

I: Complete these sentences with a correct connector from the list :-
	because , because of , although , despite , however , therefore , by contrast


1: The bus arrived late ……………….. we missed our flight . 
2: Ali studies English ………………….he needs it in his new job . 

3: He failed ………………… he studied hard .

4: ……………….. her sickness , she didn't come to school . 

5: Oil production will soon start declining . …………. oil demand is likely to keep rising . 

6: Many people continue traveling to the US …………. all the difficulties of a new life .

7: ……………… I warned her , Sara made the same mistake . 

8: ……………… the heavy rain , we walked downtown without umbrellas . 

9: We didn't play the match ……………… the heavy rain . 

10: He doesn't have a car ………………. he goes to work on foot . 

11: Many people continue to travel by air …………. all the dangers associated with flying .

12: Demand is rising . ………………… producers have to look for new oil . 

13: Companies are working hard to find new oil ………………….. its high price . 

14: Hassan in only four years old . ………………… , he can swim well  . 

II: Choose the correct answer :- 
1: ________ the difficulties we faced , we enjoyed our trip . 

         a.  Although                 b. Because of                c. Despite             d. But 

2: English is used in all communications in air and sea transport . ………….. It has become the most common language of business  .

      a. Despite                  b. Because                    c. Although              d. Moreover
3: The headmaster punished the student ---------------- he came very late to school . 

       a. so                b. because of             c. although             d. because 

4: Some employees get only $1000 a year ……………. others get at least $20,000
a. so               b. Whereas                   c. although             d. because of 

5: Ali's company has closed …………. he lost his job . 
a. and                    b. but                      c. in fact                d. while 
6: …………… being busy , Sami came to the party .

a. because              b. although                c. so                d. despite 

